oPT

OQX-10 HHF Bk

OQX-10 Automatic quick changer of manipulator

o RV RS . ® Payload capacity 10kg;
%15{)\%1\9&(9’ N e Steerbaltlock svstem;

o SRAMNERBETS; * Grasp detecting device inside;

V22 NIE . ® \With dustproof function;
s NEEMRNESE; ® Small volume light weight;
- BEFHALINRE; * Adopt the mechanical self-locking design;

® Prevent separation separation from separating when when source of cut off.

° 12’-(*/\4\%&52%,

o RV B8R
o P LESIREIMDRAI RS E .

— EHFHFA(KN) Connection retention — AR (um) Moment clearance
— BFAH(KN) Elevating power — HAEER (um) Torque clearance

10
* _/

0 0.2 0‘4 0‘5 0. ‘8 1 1.2 0 5 10 15 20 25 30 35 40 45 50
AR E(MPE) F(N.m)
OQX-10 EES . BFAHHLE OQX-10 T6. MBI HHELE
OQX-10 continuous relay and lifting force curve OQX-10 Bending moment and torque changer curve
S #{ Specifications
AMEEEBEUERE)Payload capacity 10kg
IBESHEE Positon repeatability +0.02mm
oK 4R 4B 75 @ Bending direction( Mx.My) 24 9N.m
Stat llowable t
i aiowEbe orane HHFEF5 18 Torque direction( Mr) 33.9N.m

HEH (HSE 0.49Mpalt)Tight locking force (When the air pressure is 0.49Mpa) 1000N

ZR{K Main body $BEE Aluminum alloy
#1R Materialv

21512’S[_§B? PEMMEBS Locking mechanism A4 Aloy steel
Iy SMER T (B EBTLock) Housing diameter(Lock when locked) @93.26 x65 X H38.9mm

HL.E8 A Robot side 0.44Kg
P REE Product weight

TEM Tool side 0.20Kg
Hr2E451 Disassembling institutions MERE(BIEE Steel ball position lock
IFERNESE Disassembling action pressure 0.39~0.7MPa(4~7kgf/cm?)
AFRESIEESEE Allowable temperature and humidity range 0-55TC, 0-95%(4~%58&No condensation)
B General BSFL Pneumatic port M5 x64
HEESFIA NP AR AE 1R BR3%)
Face-to-face confirmation Confirm both sides of the disk are locked Built-in 1 photoelectric sensor

Compor i General FB{SS &= Electrical signal 2x2A x 9PIN

(EEL Option

REIRSE Module parameter

= 325 . = N
me | @pF |SFRE TERR) mEy | Tmms | on | omme | gsss | ep
I\/Iodel Used in voltage currentﬁ Electric pin| Order number | Price Connector Order number Price

HLEE A o
: PTx02-0p-A MVEEAM 7.03.03.0011 PTXZ01-9P-A 7.03.03.0014
- o 24V 2A 9Pin
(A) (B) PTx02-op-8 LHM 7.03.03.0012 PTXZ01-9P-B  7.03.03.0013

59 www.opt-eoat.com Data Drawings, 3D Models,Operating Instructions



W F B oh iR
AUTOMATIC QUICK CHANGER

P 9MERS OVERALL DIMENSIONS

MEEAM: OQX-10A 24

Robof side —,

iTHRE . 7.03.12.0003 a )

Order number HiT o m‘#
B T =
Price O ‘ D) 0

93.26 4-M8BH
50 L 1910.378 8-M5V8
| =
) NG ® —® %
® 0 °
S RO F)
SIE)) jEE) ® 15
2 © [®)
O 50/ @ )
1
EESRIN eS| BLESFL 24
L: BiE#ESTL 38.9
U: MFFHSIL AN ENEE
TEM: OQX-10B
Toolside Q 24 g
]8RS 7.03.12.0004 |
HEES: [Pi==1pa
B a =
Price 2-M478

149 6-M5V8.5

38.9
AN ENEE

P 22588 INSTALLATION DESCRIPTION

ESiEESE: PTX02-9P-B
MeAF&ERobotarm IR E BT S ARES [\eagEas‘z:;c)mecmr
‘ HEEE=ZConnecting flange ‘ i ’wi’n"i!iﬁli” acuum
4-M8X20

ZEIRBD8.53FL
ﬁ ﬁ Mounting plate @8.5
through hole

0 2-@4X10

AT ) 4-M6X25
QQ | =smuameramas
Mounting plate tapping

M6 teeth Directly installed:

2-94X10

4-M6X20

| REREAG6.5E A
Mounting plate @6.5
through hole

EASEL. AP.5002000N20 \ LEVSESL: PL6

Straight gas connector L type connector

GRS INS8-NPN/PNP

switch

Data Drawings, 3D Models,Operating Instructions www.opt-eoat.com 60



	页 4
	页 5

